iFrogLab IL-LORA1272 http://www.ifroglab.com/?p=7086
Headr Code : $X1272 115200 8n,1
0xC1
BYTE-1 BYTE-2 BYTE-3 BYTE-4 BYTE-5 BYTE-6 BYTE-7 BYTE-8 BYTE-9 BYTE-10 BYTE-11 BYTE-12 | ... BYTE-19 BYTE-20
Headr Code | Command len Data-1 Data-2 Data-3 Data-4 Data-5 Data-6 Data-7 Data-8 Data-9 | ... Data-16 Data-17
Read firmware version and Chip ID (FEXF/WHhRZs & Chip ID)
PC->MCU 0x80 0x00 0x00 CRC (option) SW Version,
PC <-MCU 0x80 0x80 0x02 Chip Version CRC C1:Sx1272,
Restart & initial (Ei& & #1#1k)
PC->MCU 0xC1 0x01 0x00 CRC (option) Reset (Lora Mode Default),
0xC1 5220
PC <- MCU OxAA 0x01 0x55 CRC MCUW E & #EIACK.
Get current LoRa setting (FBEXER EAREE)
pc>mcu | 9XC1 0x02 0x00  |CRC (option) RF Chip S E1E.
Mod?2 : Sleep(0x00), StandBy
Freq : FreqgH&MEL * 61.03515
0xC1 Power : 2(0x00) ~ 17(0xO0F)dE
PC <-MCU 0x82 0x08 Mod FreqH FreqM FreqL P BW CR SF CRC
- x x ode red red red ower BW:125k(0x01), 250k(0x2).
CR:4/5(0x1), 4/6(0x2), 4/7
SF:6(0x1), 7(0x2)., 8(0x3).
set send/receive mode and frequence (R EAE R EISER R EE N BRIEER)
0xC1 Mod?2 : Sleep(0x00), StandBy
PC->MCU x 0x03 0x05 Mode FreqH FreqM FreqL Power CRC (option) Freq:860.00 ~ 1020.00MHz ;
Power : 2(0x00) ~ 17(0xO0F)dE
pc<mMcu | 9XC1 OxAA 0x01 0x55 CRC MCUUKEI & % EIACK,
Setup Lora & ELora2 ¥
0xC1 BW:125k(0x01), 250k(0x2),
PC->MCU X 0x04 0x03 BW CR SF CRC (option) CR:4/5(0x1), 4/6(0x2), 4/7
SF:6(0x1), 7(0x2), 8(0x3),
0xC1 2
PC <- MCU OxAA 0x01 0x55 CRC MCUUW Z & #}ElACK,
Send Data
PC->MCU 0xC1 0x05 0x01 ~ 0x10 DataO Datal Data2 Data3 Datad Data5 Data6 Data7 Data8 | ... Datal5 CRC (option) |BEAEHl,
0xC1 RPN
PC <- MCU OxAA 0x01 0x55 CRC MCUY 2 & #EIACK.
receive Data
0xC1 == Szl
PC -> MCU 0x06 0x00 CRC EEE R
PC <-MCU 0xC1 0x86 0x01 ~ 0x10 DataO Datal Data2 Data3 Datad Data5 Data6b Data7 Data8 | ... Datal5 CRC (option)
Get Rssi
PC -> MCU 0xC1 0x07 0x00  [CRC (option)
0xC1 . . o
PC <- MCU 0x87 0x02 RssiH RssiL CRC BRE,
Other
ok num:0 ~ 255 K&K E T FRA.
PC <-MCU OxFF 0x02 num Non CRC 01:Data error, 02:CRC error, C
Non:Test Fun




CRC:All Byte XOR,
Ex: BEURASEH$ (CRC)0x80 = (0x80)XOR(0x00)XOR(0x00) ; B &n & 0x80 0x00 0x00 0x80
Freq: 5TE A=, 04 F & 8 A 915.00MHz £ B #: FZ915000000Hz 7E BR6 1.035156 FF BA 163 #{3%.915000000 / 61.035156 = 14991360( HXEEH) -> 0xE4 0xCO 0x00




(0x01), Tx(0x02), Rx(0x03).

6o

Jmo

500k(0x3),

(0x3), 4/8(0x4),

9(0x4), 10(0x5), 11(0x6), 12(0x7),

(0x01), Tx(0x02), Rx(0x03).
Default 915.00MHz(Sx1272) o
im ; Default 2dBmo

500k(0x3) ; Default 500K
(0x3), 4/8(0x4) ; Default4/5
9(0x4), 10(0x5). 11(0x6), 12(0x7); Default 9

Sk
SN INA )L o
)3:Dev error, 04:Mode error, 05:Busy, 06:Data Over
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